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b4 Gl & x Z 2 & H [DR I -4
= ) & = El o) H| oo| # 2
# 1= % 1= £
(%) (%) (%) =) =) =) %
ERHR 213,089 7,582 1,923 36 663 8.7 577 87.0 83 9 1| 484 61 25
FEM 40,284 807 301 2.0 44 5.5 38 86.4 2 2 - 34 5 1
BHBET 86,808 196 55 0.2 25 12.8 22 88.0 5 - - 17 - 3
TN 18,223 820 179 45 88 10.7 78 88.6 12 - 1 65 8 2
miEm 27,805 1,112 345 40 54 49 51 94.4 4 1 - 46 2 1
AEM 20,963| 1,991 416 9.5 151 7.6 142 94.0 41 1 -l 100 - 9
PIBERET 10,653| 2,356 526 22.1 269 1.4 217 80.7 16 4 -l 197 46 6
Iz 7 BT 5248 1,079 263 20.6 151 14.0 114 755 1 1 -l 112 37 -
%A 5405 1,277 263 23.6 118 9.2 103 87.3 15 3 - 85 9 6
REEBET 8,353 300 101 36 32 10.7 29 90.6 3 1 - 25 - 3
it 5 BT 8,353 300 101 36 32 10.7 29 90.6 3 1 - 25 - 3
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x b= & & El 2 Dol # ]
# 1= 1= &
(%) (%) (%) =l = B
ERiask | 200,757| 22,065 5676 105 1,697 77| 1,295 76.3] 382 84 829] 203| 199
P EH 40,284 2,128 745 5.3 143 6.7 111 776 34 8 69 21 11
BHET 83,062| 6,744 2,178 8.1 588 8.7 455 774 109 36| 310 56 77
w8 18,223| 1,709 331 9.4 142 8.3 104 732 37 3 64 38 -
Wim 27,805 3,675 662 13.2 254 6.9 186 732 55 6| 125 43 25
KEH 20,963 3431 704 16.4 251 7.3 184 733 54 8l 122 - 67
FISEBET 11,067 3,579 764 32.3 262 7.3 203 775 80 18[ 105 44 15
I5; ®g T 5248 1,633 348 31.1 114 7.0 77 67.5 35 2 40 37 -
% T 5819| 1,946 416 334 148 7.6 126 85.1 45 16 65 7 15
REEBE 8,353 799 292 9.6 57 7.1 52 91.2 13 5 34 1 4
it 5 BT 8,353 799 292 9.6 57 7.1 52 91.2 13 5 34 1 4
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# 1= % 1= £
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ERHR 101,090 3,379 818 33 336 9.9 279 83.0 33 6 -l 240 40 17
FEM 19,426 400 147 2.1 24 6.0 19 79.2 2 2 - 15 4 1
KiwET | 41531 86 20 0.2 14 16.3 12 85.7 3 - - 9 - 2
e 8,588 435 84 5.1 48 11.0 41 85.4 4 - - 37 7 -
miEm 13,429 443 161 33 26 5.9 25 96.2 2 1 - 22 1 -
AEM 9,866 893 172 9.1 86 9.6 79 91.9 18 1 - 60 - 7
FISEBET 4418 1,000 192 22.6 122 12.2 90 738 3 2 - 85 28 4
Iz 7 BT 1,883 481 100 255 76 15.8 53 69.7 - 1 - 52 23
%A 2,535 519 92 205 46 8.9 37 80.4 3 1 - 33 5 4
REEBET 3,832 122 42 3.2 16 13.1 13 81.3 1 - - 12 - 3
it 5 BT 3,832 122 42 3.2 16 13.1 13 81.3 1 - - 12 - 3
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Elias | 101,.284| 8642 2,182 85 777 9.0 584 752 142 45| 397] 101 92
PEH 19,426 794 292 41 53 6.7 44 83.0 14 4 26 5 4
&igmEm | 41531 2,621 826 6.3 281 10.7 226 80.4 41 24| 161 21 34
w8 8,588 750 131 8.7 75 10.0 49 65.3 17 2 30 26 -
Wim 13,429| 1,399 265 10.4 113 8.1 81 71.7 18 1 62 22 10
KEM 9,866 1,387 269 14.1 108 7.8 74 68.5 15 3 56 - 34
PFIEERET 4612 1,383 287 30.0 122 8.8 90 738 32 9 49 26 6
Is; # ET 1,883 661 136 35.1 60 9.1 38 63.3 14 2 22 22 -
% T 2,729 722 151 26.5 62 8.6 52 83.9 18 7 27 4 6
RERE 3,832 308 112 8.0 25 8.1 20 80.0 5 2 13 1 4
it 5 BT 3,832 308 112 8.0 25 8.1 20 80.0 5 2 13 1 4
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ERHR 111,999| 4,203| 1,105 38 327 7.8 298 91.1 50 3 1| 244 21 8
FEM 20,858 407 154 2.0 20 49 19 95.0 - - - 19 1 -
gwwEm | 45277 110 35 0.2 11 10.0 10 90.9 2 - - 8 - 1
TN 9,635 385 95 40 40 10.4 37 92.5 8 - 1 28 1 2
miEm 14,376 669 184 47 28 42 26 92.9 2 - - 24 1 1
AEM 11,097| 1,098 244 9.9 65 5.9 63 96.9 23 - - 40 - 2
FISEBET 6,235 1,356 334 21.7 147 10.8 127 86.4 13 2 -l 112 18 2
Iz 7 BT 3,365 598 163 17.8 75 12.5 61 81.3 1 - - 60 14 -
%A 2,870 758 171 26.4 72 9.5 66 91.7 12 2 - 52 4 2
AEERE 4,521 178 59 39 16 9.0 16| 100.0 2 1 - 13 - -
it 5 BT 4,521 178 59 3.9 16 9.0 16| 100.0 2 1 - 13 - -
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x b= & & El 2 Dol # ]
# 1= 1= &
(%) (%) (%) =l = B
Elias | 108,473| 13,423 3494 12.4 920 6.9 71 773 240 39| 432 102[ 107
PEH 20,858 1,334 453 6.4 90 6.7 67 744 20 4 43 16 7
&igEM | 41531 47123 1352 9.9 307 7.4 229 746 68 12| 149 35 43
w8 9,635 959 200 10.0 67 7.0 55 82.1 20 1 34 12 -
mEm 14,376| 2,276 397 15.8 141 6.2 105 745 37 5 63 21 15
KEH 11,097| 2,044 435 18.4 143 7.0 110 76.9 39 5 66 - 33
FISEBET 6,455 2,196 477 34.0 140 6.4 113 80.7 48 9 56 18 9
Is; # ET 3,365 972 212 28.9 54 5.6 39 72.2 21 - 18 15 -
% T 3,090 1,224 265 39.6 86 7.0 74 86.0 27 9 38 3 9
RERE 4,521 491 180 10.9 32 6.5 32 1000 8 3 21 - -
it 5 BT 4,521 491 180 10.9 32 6.5 32 1000 8 3 21 - -
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B 5 |sgsu|zpag| B8
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BN | 212898 14938 7,711 7.0
N e 40,284 1,533 844 38
BBET 86,808 1,536 981 18
g 18,223 1,569 499 8.6
B 27,805 2,045 516 74
L i 20,963 3,481 3,481 16.6
FIEERE 10,462 3,246 991 31.0
sz 7 BT 5,248 1,633 545 31
% H BT 5,214 1613 446 309
AEERE 8,353 1,528 399 18.3
4t 77 81 8,353 1,528 399 18
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X 5 |zpEn| B8 ‘ = | EEE| R E | b2k | BLO | 408 | RER | L5l
* 1 &= H¥ (%) LEH (%) n,u&)—rf H HdE %‘E%) 82
BN 14,938 7,711 604 40 541 89.6 232 8 24 286 26 31
BB H 1,533 844 48 3.1 41 85.4 11 - - 30 5 2
BBET 1,536 981 84 55 82 976 34 - 3 45 - 2
g 1,569 499 94 6.0 82 87.2 34 - 4 44 8 4
B 2,045 516 35 17 30 85.7 9 3 2 16 3 2
A gH 3,481 3,481 228 6.5 207 90.8 110 3 7 87 6 18
TS EE 3,246 991 51 16 38 745 14 1 4 28 4 -
sz 7 BT 1,633 545 21 13 20 95.2 1 1 - 15 4 -
& BT 1613 446 30 19| #REF|  #REF 13 - 4 13 - -
AEEE 1,528 399 64 42 61 95.3 20 1 4 36 - 3
3t 75 &7 1,528 399 64 42 61 95.3 20 1 4 36 - 3
* 1 IREMRZREEHETRELLEEED
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R 7 |Z2EH| HiE B = N REE | R E | Hor | FLO | S0E RIEE *ﬁ;?%
* 2 wE * 3 (%) ZEHR (%) 2T & HhdE | BETH 8
ot
BN 368 183 - - - - - - - - - -
N B 43 18 - - - - - - - - - -
BBRET 89 38 - - - - - - - - - -
g 19 5 - - - - - - - - - -
BiEm 40 14 - - - - - - - - - -
A g 89 89 - - - - - - - - - -
FIEERE 76 13 - - - - - - - - - -
sz 7 BT 11 4 - - - - - - - - - -
% f BT 65 9 - - - - - - - - - -
AEEE 12 6 - - - - - - - - - -
i % BT 12 6 - - - - - - - - -
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<MBIVHIRRERE> CERR215E)
. Emis | =0 | BRE | BR T HAT [ 5AG | FAL s
£ 5 |zpan| =8 = gpx | B % | por | B0 | nos [z | B2
| we | sw | co | mEm| G0 |@ed )| U5 | 563 | 3Th 2
BN 5,932 2,901 279 47 240 86.0 86 5 12 146 14 16
e 718 364 19 2.6 17 89.5 3 - - 14 2 -
BHBET 348 149 37 10.6 37 100.0 15 - 1 21 - -
g 707 215 49 6.9 41 83.7 14 - 3 24 6 2
miEm 793 184 14 1.8 11 78.6 2 3 1 5 1 2
AEM 1,462 1,462 111 7.6 99 89.2 43 1 5 50 3 9
PFIBERET 1,281 362 23 1.8 12 182 4 - 1 16 2 -
Iz m AT 669 209 11 1.6 9 81.8 - - - 9 2 -
VN 612 153 12 20 12 100.0 4 - 1 7 - -
AREE 623 165 26 4.2 23 88.5 5 1 1 16 -
it 75 B 623 165 26 4.2 23 88.5 5 1 1 16 - 3
1 BENBORELN U CEBLEEEE0
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20| vE | 53| so | mwm| G0 | med | TF | #6% | 3Th e
BN 327 161 - - - - - - - - - -
PeR= ) 41 17 - - - - - - - - - -
BHBET 80 36 - - - - - - - - - -
TR 19 5 - - - - - - - - - -
mEm 30 7 - - - - - - - - - -
KEM 83 83 - - - - - - - - - -
PFIBERET 64 9 - - - - - - - - - -
Is; m5 T 11 4 - - - - - - - - - -
% ) HET 53 5 - - - - - - - - - -
RERRE 10 4 - - - - - - - - - -
it A B 10 4 - - - - - - - - -
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x4 |=peu| =8 TR T ek | mow | ok | BUo | nos | xeE | 2P,
| B | wm | oo | mEm| G0 | me¥ | U5 | 863 | 3Th
ENRE 9,006 4,810 325 3.6 301 92.6 146 3 12 140 12 15
BE® 815 480 29 3.6 24 82.8 8 - - 16 3 2
BHRT 1,188 832 47 4.0 45 95.7 19 - 2 24 - 2
1T 862 284 45 52 41 91.1 20 - 1 20 2 2
W fE W 1,252 332 21 1.7 19 90.5 7 - 1 11 2 -
XEM 2,019 2,019 117 58 108 92.3 67 2 2 37 3 9
PISERET 1,965 629 28 1.4 26 180 10 1 3 12 2 -
Iz 7 AT 964 336 10 1.0 8 80.0 1 1 - 6 2 -
5 H BT 1,001 293 18 1.8 18 100.0 9 - 3 6 - -
AREERET 905 234 38 4.2 38 100.0 15 - 3 20 - -
dc 5 By 905 234 38 4.2 38 100.0 15 - 3 20 - -
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x2 | BE | *3 | G0 | mEE| 00 | @0t | E | boE | ECh 22

o E

EREH i 22 - - - - - - - : : :
78 2 1 - - - - - - - - - -
aBAT 5 2 - - - - - - - - - -
LR . . . . . . . . - - -
BT 10 7 . - - - B B B B B B
AR 6 6 . — — — — — — — — —
PBE 12 4 - - - - - - - - - -
5 B B B - - - B B B B B B
% 1) B 12 4 - - - - - - - - - -
AR 2 2 . = = = — — — — — —
1 75 A1 2 2 — — — — — — — — — —
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I FEBNARDEERR(T6—4) (ER275E)

ZLEHR REREHR

EpE | ERR | BRR | BRZ | BB ) BADE | BARY | AR
R % |swgsn| s=x WIEE | 24 = EpE | B % %@E f\}g%";t CIN2T | CINIT | BEBE | L 0hs [cINELs| REBE | KIEER

gpEy | BEOE | 2pEn | 22ER| W 2| w | BER| W | 2T | =& tg | BRE | HO1FE | THOE %ég* gff; =
En| 153036 11412 2,840 13532 4,793 13.2 175 15 153 87.4 46 9 8 12 29 1 8 48 17 5
P EW| 28333 947 344 1,096 313 6.1 13 14 1 84.6 - 1 - 2 4 - 1 - - 2
£%EM| 61,230 2,285 791 3,023 68 8.6 75 33 64 85.3 18 4 3 3 12 - - 28 1 -
W e | 12344 1,092 258 2,344 559 233 17 16 17 100.0 9 1 - 1 4 1 - 1 - -
wmEHl 21217 2,612 308 2,878 1,935 16.8 23 0.9 23 100.0 8 1 1 4 2 - 7 7 - -
ABEH| 14678 2,242 389 2,293 1,485 20.8 29 13 23 79.3 3 2 3 2 7 - - 6 6 -
FISERET 8,980 1,563 562 1,268 66 30.8 16 1.0 13 81.3 7 - 1 - - - - 5 - 3
I & ET 4,573 852 349 709 26 336 8 0.9 5 625 - - - - - - - 5 - 3
3 NI ) 4,407 711 213 559 40 27.9 8 1.1 8 100.0 7 - 1 - - - - - - -
RERE 6,254 671 188 630 367 14.9 2 0.3 2 100.0 1 - - - - - - 1 - -
it A Hr 6,254 671 188 630 367 14.9 2 0.3 2 100.0 1 - - - - - - 1 - -
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b4 %2 [El %2 = & B E E .2} »H D|HH %2

2 2 EJ S b= & x El 2 H| Do| # 2

2 2 & bl 1= % - £

% % g | e (%) (%) % 5| = o
ERRE - - - - - - - - - 4 -1 4 4 4 ] -
B - - - - - - - - - 1 1 -1 4 4 | -
EBE - - - - - - - - - 1 - 1 4 4 ] -
W 8 - - - - - - - - - 1 1 - 4 4 | -
W A8 - - - - - - - - - 1 - 1 4 4 ] -
KB - - - - - - - - - 1 - -4 4 4 1 -
TBIWE - - - - - - - - - 1 4 4 A4 4 1 -
ig; 7 B - - - - - - - - - A - 1 1 41 | -
o A . - - - - - - - - 4 - 1 4 4 - -
AEIE - - - - - - - - - 1 - -1 4 4 -1 -
it 75 - - - - - - - - - 4 -1 1 -4 4 4 -
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B 2| B | = |5 = | = | ¥ || s|loo| ' | B

5 5 & 5 - % - E

P P all ICD) (%) (%) x| =| = 5
Epiagk | 113255 12,601 2927| 12601 5261 17.6 884 70 817|  924] 344 41 55( 389 47 16
HE® | 20858 1,108 350 698 417 6.7 72 6.5 70| 972 37 2 - 31 2 -
&mwEm | 45277| 2850 990| 2,664 19 121 184 65 173|940 72 14 1 86 4 7
- 9,635 1,102 181 2,200 596/  28.1 78 7.1 70| 897 19 4 1 12 5 -
mam | 14376 2666 351| 2,546| 1901 23.0 196 74 189| 964 67 5 1l 116 4 3
Agm | 11097 2147 267| 2451 1522 277 102 48 93 912 28 5 46 60 8 -
FEEE 7491 1,866 525 1,356 338 385 208 111 182| 875] 103 10 5 64 23 3
I 7 ET 3,365 920 290 679 191 418 13[ 123 94| 832 47 8 2 37 19 -
55 ¥ BT 4,126 946 235 677 147| 358 95 100 88| 926 56 2 3 27 4 3
AEFE 4521 862 263 686 468 239 44 5.1 40| 909 18 1 1 20 1 3
it % #T 4,521 862 263 686 4ss|| 23.9 44 5.1 40| 909 18 1 1 20 1 3
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WERE - EHBRERDSERIKNR(T6—6)
CERi27F )
WA KB ® 2 7 M B E R Z
GilES 2 2 EH C:3 = R |22E| E = R
= 5 z RRE|EEE(ROT| K | FRE|(EEE| 20T
; 40%% | 50%% | 60&% | 705 | 40% | 508% [ 60%% [ 70%% (X
ENHE 1,245 91 75 82 118 310 214 162 193 918 174 153] 1,360 137 174] 1,049
PE™ 272 18 25 23 21 59 50 30 46 242 9 21 324 93 63 168
&HBIRT 540 23 19 27 87 111 70 68 135 502 14 24 - - - -
1T - - - - - - - - - - - - - - - -
ImfE - - - - - - - - - - - - 283 12 30 241
AKEBEM 237 28 17 23 - 75 39 55 - 98 67 72 498 4 53 441
FISARET 162 21 13 4 7 60 44 5 8 52 79 31 142 8 126
Iz 7 AT 67 6 4 7 19 11 5 8 2 58 7 - - - -
3 N 95 14 7 - - 41 33 - - 50 21 24 142 8 8 126
AREEET 34 1 1 5 3 5 11 4 4 24 5 5 113 20 20 73
it 7 HT 34 1 1 5 3 5 11 4 4 24 5 5 113 20 20 73
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(EF275E)
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= 4 ‘ - c® Hﬁ&_ _ BEIRF 2% _ BEAEEEATVE - -
MNEEWN | 228 | 20F | 22E% | 22 | L . N it
HED | HED it
(%) (%) (%) (%)
BN 4,637 475 10.2 472 10.2 1 - 1 0.2 5 1.1
PEM 1,124 63 5.6 63 5.6 - - - - - -
EHRT 1,030 5 05 5 05 - - - - 1 20.0
1T ) 320 18 5.6 18 5.6 - - - - - -
miEm 947 191 20.2 190 20.1 - - - - 1 05
AEM 170 61 35.9 60 35.3 1 - 1 1.6 1 1.7
FIBERE 768 113 14.7 112 14.6 - - - - 1 0.9
I & ET 422 54 12.8 54 12.8 - - - - 1 1.9
2 ) 346 59 17.1 58 16.8 - - - - - -
AEEET 278 24 8.6 24 8.6 - - - - 1 42
it 5 BT 278 24 8.6 24 8.6 - - - - 1 42
* RV AREEERR <HBSHMEZ > (T6—7—1)
BN R CEPFXDFHER BEFXDHER
e CEIFT#% | BRI R EEEL B LVE . y -
ZyEy | 22| HED FIEQ Hi it
(%) (%)
41~445% 351 349 - - - - 2 0.6
45~49%% 400 397 1 - 1 0.3 4 10
50~54%% 414 413 1 - 1 0.2 6 15
55~597% 387 387 - - - - 5 1.3
60~ 6455 480 478 - - - - 4 0.8
65~697% 391 391 2 - 2 05 1 0.3
710 E 214 214 - - - - 1 05
it 2,637 2,629 4 - 4 0.2 23 0.9
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T4m | L\E | B |ZEAE| B (EAE| B% [EAE| B |EAS| B [EAE| B |BEAE| B [ZEAS| @E% [ZEAE| BEH | EAE

BRI 2,951 209] 659 7,538 241 1111 95| 1,907 98| 477 30| 563 22| 375 4 10 65| 231 321 2,864 - -

FEf 745 40 8 8 1 1 - - 2 2 - - - - 1 1 2 2 2 2 - -

&IERET 1,343 110 22 37 - - - - - - - - - - - - 9 9 13 28 - -

(IT=ars 198 31 1 1 - - - - - - - - - - - - - - 1 1 - -

Wi - - 16 38 - - - - - - - - - - - - - - 16 38 - -

AEH 199 12] 504 6,694 20| 1,096 88| 1,884 90| 454 22| 395 22| 375 2 2 41 50 219 2,438 - -

PFIEERET 253 7 69 622 1 6 - - - - 8 168 - - - - 7 150 53 298 - -

Is; =g ET 166 6 56| 301 - - - - - - 3 3 - - - - - - 53 298 - -

% BT 87 1 13[ 321 1 6 - - - - 5| 165 - - - - 71 150 - - - -

ARERET 213 9 39 138 2 8 7 23 6 21 - - - - 1 7 6 20 17 59 - -

it 5 BT 213 9 39 138 2 8 7 23 6 21 - - - - 1 7 6 20 17 59 - -
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ERNBH - - - - -| 367/ 10,084 24| 913 22| 215 - -| 120] 3,261 - -| 201| 5,695
BEH - 61| 334 6 33 7 34 - - 16 52 - - 32| 215
EHBET - 108| 2,172 2 17 - - - - 9 35 - - 97 2,120
1R - 38| 2,670 9 259 3 78 - - 4 64 - - 22| 2,269
WmEh - 28 248 - - 12| 103 - - 8 99 - - 8 46
KETM - 88| 3,083 - - - - - - 79| 2,990 - - 9 93
PIEARET - - - - - 38| 1,558 7| 604 - - - - 4 21 - - 27 933
Iz = ET - 19| 266 - - - - - - - - - - 19| 266
5 HT - 19 1,292 7| 604 - - - - 4 21 - - 8| 667
AREAE - - - - - 6 19 - - - - - - - - - - 6 19
it A BT - 6 19 - - - - - - - - - - 6 19
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